Name Skill: Addition and subtraction

Add or subtract the numbers below. Use the answer key to fill in the letters and
get the answer to the riddle.

Riddle
Why is the grizzly always cold?

Answer Key
22=B 21=C 54=A 47=T 58=W 34=E 85=U
72=H 7=R 65=L 30=1 69=S 42=K 86=F

9 99 64 15 23 72 95

+ 12 - 14 - 10 + 19 + 35 - 7 - 25

68 23 33 48 46 18 37
- 21 + 46 + 39 + 38 - 24 + 24 - 30

22 34 21 54 85 69 34 72 34

58 54 65 42 69 58 30 47 72

22 34 54 7 86 34 34 47
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Answer Key

1 I I 25 138g 58~ il
j i i
B we |Rrjg 2my
: £ 1] i |
i ¥ | =
i T _:‘;l% EETN T b B i
-1 < i 1]
| a ©
i H oo = 8o w l; w Q
1 iR R e %) by - g
i | & 5 d
i Eis - [IVReTY L
A B i S ol
‘l! i ts P< [ |
1 £ ™. = k
] et o B EE
| 85 B ax P e o §
g (BE|Ei s e o ke o |
2 ¥n | Al = I

© Teacher’s Friend, a Scholastic Company 42 3rd Grade Basic Skills: Reading and Math - Thinking Skills



